A & R @ =

£ A = FM 3 &F 12 B 2 H FHI1085205

A # & PR FLALETRIBAIT2ME 2012538

I £ & 5 $£-56

I = 4 B ERHEETS

I %= 15 HoACHET B A

FE @A (BA) 6,001,600 FH  As=mwesiEs @i 5 456,000 H

B 1B #I R fli 48 (B2 32) 5,357,000 FH  A# =& Bk 4, 870,000

FESHE (BR) 5,367,000 H #&£% (fik) 4,870,000 M
*E4 A #L %8 i 5

BA R THEES 4,870,000( (<L) #EALRTE

BESHEKR &1 4,870,000[ (<L)

HRA S EAM 4,870,000[ (<L)

BEHZERSHH 4,870,000[ (<L)

BAESHIESH 4,870,000[ (<L)

B EALHIAE 5, 450, 000

EFEAFLEEICI00DI0(CHHL T S8 ZME L -SRI 25 E#HHA L
DHAHCIRDHMEETH D




